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f®%=ﬂ0+fﬁﬂw—ﬂ+%fmaw—ﬂ2(£=t+ﬂw—ﬂﬂ<9<1»
00000 f (x)(z—t)?>0 MOO0OODO

fla) > f(t) + f(t)(x = 1)
v =ux,m, -0, 0000000000000

fla) + fla2) -+ flan) 2 nf () + f () (a1 + 22+ 2p — nt)

Doo =Y mangpo,413)000000000)

n

(413) 0000000000000 000000COO0OOOOODOODOUOODOOOOO
oooogo

boobooobooboooooobooooooo
oov700 M@ooo

fa)=1—sina,  g(a) :/j(:c—t)f(t)dt
ggod

gl +y)+ gz —y) > 2g(x)

goodg

g(x) = flz) = 1 —sinz > 000000000y = ¢(x)000000000000000

t ; ¢
5:x+%t:w—yDDDDng—:wDDDDDDDDDDDDD “@;“)293;)

000000000000000000000000000000000¢”(2)>0 0= MO
0D0000000000000000000000000000000000000000000
0000000000 O (x) = fz)=1—sin200 ¢(x)0 0000000020000 2,y00
000000000000000000000000000000000000 0 M0

‘000000000000 DO00ON 000000
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4.3 CebysevDl 000000 DOO0O0DOO

0000000000000 D0D0000DO0000DO00®% O
Up<qg<r, z<Ly<L:M000b0o00b0o0o0oooobooobbobbobooooo
goooo

(1)2(px +qy) > (p+ q)
(2)3(pz +qy+7rz) > (p+ag+r)z+y+2)

gboboboooboooon

Cebysev 000000 0O0ODOO
ap >ay>--n, by 2by>--- 25,0000

(a1 +az+--++ap)(by +ba+ -+ by) <nlarby + azba + -+ + ayby)
oo

n(aiby + agby 4+ -+ + anbp) — (a1 +ag+ -+ +n)(b1 + b2+ -+ + by)

= n(albl + asby +--- + anbn)

arby +arby + -0 +aiby
_ +asby + asby +--- - + azby
4
+anbl + aan o + anbn
= (Tl — 1)a1b1 —aiby —aijbg+ - —aiby,
—a9hy + (n - 1)&2[)2 —asbg — .- — asby,
—apby —agby — -+ (n — D)agby — -+ - — agby
—apby —apbs — -+ — anbp—1 + (n — 1)ayb,
= ar(by —b2) +ay(by —bg) +------ +ai(by — by)
+az (b2 — by) + ag(by —bs) + -+ + az(by — by)

‘0000 WoOoooDooo
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+an(bn - bl) + an(bn - b3) + - + (Irn(bn - bn—l)

=D (ai—aj)(bi—bj) =0 /]

i<j

0000000000 O(1)0000 (2)000000000700000000000)000
0oooo00
i)(1)00D000000000

2pr +qy) > (p+ (e +y),2(qy +r2) > (¢ +r)(y+ 2),2(rz + px) > (r +p)(z + )

000000000000
dpr+qy+rz) 2 (p+a)e+y)+(@+r)y+2)++p)(z + )
P+a)x+y)+(g+r)y+2)+(r+p)z+2)

=pRe+y+z)+qle+2y+z)+r(z+y+22)
=@t+at+r)ety+)+pr+aytrs)

000000000
ii)(1)00000000,

2pr+qy) —(p+ )z +y)=(p—q)(z—y)
000000000000000000(2)00000000000000
O
00000000-000000000#)0000000

4.4 UO0OOOO0OOO

00000000000000
a>0,b>0,c>00000

0000000000p; >0,p2>0,--+,p, >00000

ﬁ+x_%+...+é> (w1 4 22 4+ + 20)?
rL P2 pn . pitp2+--+ DBy

"D00000 MO0O0O00000200000000000000000000@MO000O0000
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000000 0000000000000 000D0000000000O0O0O0O0O0O0 p1:p2:
eipp=xriae 0000

00000000000 bDOoo0ooDoDo0oooo0oOooDbOOobOoOoDOoOoOoOooOoOOoOoOoaon
odooooooooobooooo d

Oo00oo0oooooooooooooa

w+y|<1

14 xy

oo0o0O0o000 mooo D|z|<1 Mmooooooo1.1gooooo Df(z):e 1 O
—az

gobod Mmoboboibodde«bDOO0OO0DbDOO0ODLObOO0ODDbOO0O0O00D0O00b0Oo0bOoOo
001/0000000000) M0O000D000000Ooooooo
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HEEEN

0000000 Iternet 000 0000000000000 D000O0O0OO0OOODOODOO
MathematicaD OO0 0OO0O0OO0OOOOOODOOOOO0OO0OMOOOOOO, 000000
gbobooobooboboooooboboobboooooooboboboobooobooooooboon
gboboopoooboooboooooboooan

00000000000000000000000ODO00O0OD00OODOOOODO000ODO0O0)C
gbooobooobooooobobooobobobobobooobobobboboooboonog
gooooboboooboobobobobboooodoboobbooboobooob oo
ggbbooooboobobooobooboboobobobbooooooboobbobobbo
gooboooboobobo0 Moooooboooboboooooobobooooooooo
000 oooobobobooobooboboboouoooboooobooobobobboon
gooboooboooobbobboooboboobobobboboooboobooobobbooooboan
gooobobooooobbooobuoooobobboooooooboooooobaobobooan
gobbooooboooooboboboobobobbbooooboooboboDbn

5.1 MathematicaO OO QO QOQOOQOQOQd

5.1.1 TableDOOOODOOOOOOODOOO

goboboobobbobobooboooobooboboboooono
goooo

ar=1, ap1=a,+2n—1 (5.1)

00000000 {a,}0 TableO O 0O O O MathematicaO

In[1]:=a[1]:=1

In[2]:=a[n_]:=a[n] + 2 n - 1

In[3] :=Tablel[a[n],{n,1,10}]
Out[3]:={1,4,9,16,25,36,49,64,81,100}

ogoooogn

'D000D0 MOOODDO00O000
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an = n? (5.2)

0000000000000 00000000O000G.2)0 (.1)bo00oo0ooooooooon

O0o0GHOOoooooooo0 b, =ayy1 —a,0000nr>20000

n—1
ap =q1+ Z bk
k=1

0000000000000 00000000O00000000)0 00000000 OR=1,n>2
gooooooooyooooooobobbooooboobooooooboooboDooLbo
gboooboooobobooobobbooooobbooboboboooboooboobooooo
gooooo

gbodgddiOa =1, an+1:(1+%)an MOoDO0Db0OO0DbDbO0OO0dTabledooon
goood

5.1.2 FitOOOOOOOOO0OOOO0OO

obooooobbboboo Fitdboobooboboooooboon
goood

ar =1, apt1 =3a,+2 (5.3)
000000000 TableO O OO
{1,5,17,53,161,485,1457,4373, 13121, 39365}

ggooooboooobobobooboan
Fitd ooo

Fit[ { Y1,925 s Yn } s { fl(T)an(T)a afk(T) }7'77 ]

0000 f(x) =ci1fi(x) + cafa(x) - + cxfi(x) O

f(]'):y17f(2):y277f(n):yﬂ

MO00000000ec,e,---,0000000000000000
(5.3)000000000 fi(z)=1,f(x)=3"0000000 TableD0 000D

In[3]:= Fit[%,{1,3"n},n]

Out[3]:= —1. 4 0.666667 3"

googg
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u
U
gbood

ar=1, (n+1)apys =nap+2n—1 (5.4)
oo0d ne, =0,00000000000000000000FtO00000O00O00O0O0ODO0ODODOO

In[1]:=al1]:=1
In[2]:=a[n_]:=((n-1) a[n-1] + 2 n - 3)/n
In[3] :=Table[a[n] ,{n,1,10}]

_ 5 5 17 13 37 25 65 41
OUt[g]_{lﬂlagaga?aja?afa?a?

gddodoooooooouooobooooooooooooooa
. . . 1 1
fi=Lfo=nfs=n’fi=—.fs=—
n n

OooooooOoooon

In[4]:= Fit[%,{1,n,n"2,1/n,1/n"2},n]

1.97342 107" 2.
5 +=+1. n+573977 107'° »’

n

O
L.nl00000000000000

n

an=n4+——2
n
ooboboooooobboogo

In[5]:=aln_J]:=n + 2/n - 2
In[6] :=Tablel[a[n],{n,1,10}]

5 5 17 13 37 25 65 41
OUt[6]:{1a17575737777777373
OO0 TableOO OO OOO.000O0 (5.4)DDDDDDDDDDDDDDDDDDDDDDD. O
O

ogooooooogo
ay =1l,a2 =4, apty2 = dapt+1 — bGay

000000000000 00000.
2 =5r—60000.,0=2,3

In[1]:=a[1]:=1

In[2]:=a[2]:=4

In[3]:=a[n_]:=5 a[n-1] - 6 a[n-2]
In[4] :=Tablel[a[n],{n,1,10}]

Out[4]={1,4, 14,46, 146,454, 1394, 4246, 12866, 38854}
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In[5]:=Fit[%,{1,2"n,2°n,3"n},n]

Out[5]=3.74710'3 — 0.5 2" + 0.666667 3"

oooo
an = —12"4— %3"
2 3
0
0

0O FibonacciO O
a; =1l,az =1, An42 = Apt1 + an

TableD 000 OOut[3]={ 1,1,2,3,5,8,13,21,34,55 }
oooooooog
In[4] :=Solve[x"2==x+1 ]

Out[4]:={ { x - *qm‘[é]}{qﬁ_ S %qrt[b’] m)y)

In[5]:=b:=(1-Sqrt[5])/2
In[6]:=c:=(1+8qrt[5]1)/2
In[7]:=Fit[%3,{ 1,b"n,c"n } ,n ]

]_n ]_n
Out[7]=6.52256 107'% — 0.447214 (5) (1 — Sqri[5])™ + 0.447214 (5) (1 + Sqrt[5])"

0ooo
11n n n
%:ﬁG)w—ﬁ%m+ﬁw
. Vi1
100 0047214 =2 = - (D0000000000000000.
J

5.1.3 0JU000OO0ooooooon
oooooo

{ Ap+1 = Pan + qbn
bn+1 =ray+ Sbn

p q
r oS

DDDDDDDD{%L%MDDDDDA:(

An41 A
=A
( bn—H ) ( bn >
a 0

aﬁDDDADDDDDDDP*AP:(O 3
/

P—1<a”“>::fr4AP-P—1<a”>
bn—l—l bn

>EDDDDD

) MOoo00oooooood.s)o
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()= (e ()

goooooa
a a 0\ ai
(- 9 ()
(Chz)ZP(a O>H1P1 <a1>
by, 0 g by

000,a,, 0,0 g~ '0000000000.

00 Oap=0,b =0

{an+1 = 3a, + 2b,
bn+1 = 2a, + 6b,

ooon
In[1]:=al1]:=1
In[2]:=b[1]:=0

In[3]:=a[n_]:=3 a[n-1] + 2 b[n-1]

In[4]:=b[n_]:=2 a[n-1] + 6 b[n-1]

In[5] :=Tablel[al[n],{n,1,10}]

out [5]1={1,3,12,75,493,3387,23581,164811,1153165,8071131}
In[6] :=Table[b[n] ,{n,1,10}]
Out[6]={0,2,18,134,954,6710,47034,329366,2305818,16141238%}

MathematicaO 0000 000000 Eigenvalues| |0 000

In[7]:=Eigenvalues[{{3 2}.{2 63}}]
Out [71={2,7}
In[8] :=Fit[%5,{2"n,7"n},n]

Out[8]=0.2 2" +0.0285714 7"
000000285714 MO00O0000000OD0.

In[9] :=Table[0.0285714 n,{n,1,10}]

Out[O]={- - vvurrryreyorey e 02,0 e, o)
00000.0285714 7=1,  0.0285714 = - (0DOOO
1 1
11:_21’1, _7)’1
=50t 3

In[10] :=Fit[%6,{2"n,7"n},n]

Out[10]=—0.2 2" 4 0.0571429 7"

1 n 2*7”
bn:—gz +£t
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O
O
gooooodooodoon

an+1=€Z:IZ (5.6)
DDDDDDDD{an}DDDD
oon

m:px—i-q

rer+ s

a”_g}DDDD.DDDDDDDDDDDDDDDDDDDDDDDD

Ap — |

DDa,,BDDDDDD{

DDDDDDDDDDDDDDDDA:(p q)DDDDDDDDDDDDDDDDD.
rS
goooogono
_|_
fA(;L‘):A<;L‘>:px 4
rr+s

gbooooooobob.ooooo

A<B<uae>>=(AB)<uz>
y=A<z>detA£0 = z=A'l<z>

0000000000000 0000000(000detA=0 = A<ax>=const.0
oooooO0((5.6)0 x4 =A<z, >000000000000

P~'AP = (a 0)
0 s

0000000000000
P l<ua, g >=(P'AP) < P! <2, >>,

«

-1 _ 0 -1
P <app >= <P <z, >>

0 B
ggoogno
o 0 n—1
Pl<u,>= < > < x>,
xr 0 /B X1
a1 0 n—1
l‘n:P< 0 Bn_1> P_1<JZ'1>

00 ADDO0ODOOO00DOO)00000000OO00000ODO0O0000O0OOODOOOOO
Mathenaticall O Eigensystem D D00 OO0 0O0000D0O0O0O00OO0OOODOODOO0O
O

3a, + 2
00 Doy =4, apyy =0t

a, + 4

2
DD(? 4)DDDDDDDD
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In[1] :=Eigensystem[{{3,2},{1,4}}]
Out [1]:={{2,5},{{-2,1},{1,1}}

goooo

-2 1 20
(7D )
1 1 0 5

0oooo
pPAn-lp-1 — 1(—2 1><2n—1 0 )(1 _1>_1< 9n 4 pn—1 _2n+2_5n_1)
o3\l 1 0 5/ \=-1 =2/ 3\-=2n7l45nt ontlyo. 5!
oo

(2n + 5n—1) o4+ (_217, +2. 517,—1) B 271,—1 + 5n—1
(_217,—1 + 5n—1) . (2n—1 +92. 571,—1) - gn—1 _ gn—2

ap =

5.2 { (2n)00000000

goboooboooooboboobobboboooobo00gbD e, 000000 ag,-+-,an—1
oo0oo0oooooOoO0ObOO0o0OoO0OuUkesic D000 oooooobooObDOOobOOoOOoDO
googd

(0000000000000 0Eder000000000000200000000

S ek ooy +

@ 1 (mi)?" =0 (5.7)

2n +1

000000 MOoO0¢2n)D00000boooooon

— n n = (_Wz)n_k _ ‘
¢(2n) = —m(—ﬁ2) - 1; mC(zk) (n=1,2,3,--+) (5.8)

MO00¢(2n) =a,7"00000

(_1)71—k
EEEETE YL (5.9

n—1
n
ay = (—1)"_17 -
(2n 4+ 1)! kz:;
Mo0dOday =

1
6
000000¢(2)0000000000000000000003basicd0000000O0
gooooooon

‘00000000000 DO0ONI MO00000000000000000
*000000 Bernouille D0 0000000000000 000OOODDOOO0OO0OO0ODODOODOOOOOO
O0D00OO00OBernouilleD0O0O0O0O00O000000O0O0COOOOODO
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10 [PEvaluating Uthe [values Uof Uzeta(2n)
20 [Oprint=print+"zeta(2n) .dat"
30 [input "How great n do you want to get for zeta(2m)";L
40 Odim A(L):A(1)=1//6
50 Ufor N=2 to L
60 OOOAMD+C((-1\" (n-1)*n)//! (2*N+1)
070 OO UOfor K=1 to N-1
80 OO DOOAM)=AM)-(((=1D\" (N-K)//!(2xN-2xk+1))*A(K)
90 0O U [mext K
100 [hext N
110 [for I=1 to L
120 0O Olprint A(I)
130 [hext I
Mooooo
O
7T2 7{.4 7{.6 ) 71.8 7T10
C(Z) = 6’ C<4) = 90° C(G) = 900’ ¢( ) = 9450 C(l()) = M’
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